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	Teacher Key with Answers

	Ques
	Answer
	Level
	Skill
	Subskill
	Item #

	1
	D  
	Easy  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.4 Biodiversity & Adaptation [99258]
	D53814

	2
	C  
	Hard  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.3 New Species Emergence [99257]
	D109498

	3
	B  
	Moderate  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.2 Form & Function [99256]
	D54641

	4
	B  
	Moderate  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.3 New Species Emergence [99257]
	D109487

	5
	A  
	Easy  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.4 Biodiversity & Adaptation [99258]
	D56117

	6
	C  
	Easy  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.5 Classification Evidence [99259]
	D81252

	7
	C  
	Moderate  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.5 Classification Evidence [99259]
	D81364

	8
	D  
	Hard  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.6 Organism Relatedness [99260]
	D55473

	9
	A  
	Moderate  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.5 Classification Evidence [99259]
	D81253

	10
	A  
	Easy  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.3 New Species Emergence [99257]
	D109497

	11
	C  
	Easy  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.6 Organism Relatedness [99260]
	D63339

	12
	A  
	Easy  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.3 New Species Emergence [99257]
	D109488

	13
	D  
	Hard  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.3 New Species Emergence [99257]
	D109489

	14
	A  
	Hard  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.5 Classification Evidence [99259]
	D81256

	15
	A  
	Hard  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.6 Organism Relatedness [99260]
	D57503

	16
	B  
	Moderate  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.4 Biodiversity & Adaptation [99258]
	D62461

	17
	D  
	Moderate  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.6 Organism Relatedness [99260]
	D50906

	18
	C  
	Easy  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.5 Classification Evidence [99259]
	D81366

	19
	C  
	Easy  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.6 Organism Relatedness [99260]
	D82968

	20
	B  
	Moderate  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.5 Classification Evidence [99259]
	D81254

	21
	A  
	Hard  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.2 Form & Function [99256]
	D51048

	22
	A  
	Moderate  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.2 Form & Function [99256]
	D64062

	23
	C  
	Moderate  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.6 Organism Relatedness [99260]
	D62847

	24
	B  
	Easy  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.2 Form & Function [99256]
	D54727

	25
	A  
	Moderate  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.4 Biodiversity & Adaptation [99258]
	D62805

	26
	D  
	Easy  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.2 Form & Function [99256]
	D63084

	27
	D  
	Moderate  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.6 Organism Relatedness [99260]
	D63445

	28
	C  
	Easy  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.6 Organism Relatedness [99260]
	D56788

	29
	C  
	Moderate  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.3 New Species Emergence [99257]
	D109493

	30
	D  
	Hard  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.2 Form & Function [99256]
	D60636

	31
	D  
	Moderate  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.3 New Species Emergence [99257]
	D109499

	32
	B  
	Hard  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.6 Organism Relatedness [99260]
	D55148

	33
	D  
	Easy  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.2 Form & Function [99256]
	D54886

	34
	B  
	Hard  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.4 Biodiversity & Adaptation [99258]
	D82979

	35
	B  
	Easy  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.5 Classification Evidence [99259]
	D81368

	36
	C  
	Moderate  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.4 Biodiversity & Adaptation [99258]
	D55168

	37
	C  
	Hard  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.2 Form & Function [99256]
	D66305
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	Question 1 of 37
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Kingdom | Animalia | Animalia | Fungl | Animaia
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According to the classification key, which two organisms are most closely related?

	 
	 
	 
	 
	 

	[image: image2.wmf]  
	A.
	house cat and shaggy mare mushroom

	[image: image3.wmf]  
	B.
	guinea pig and bobcat

	[image: image4.wmf]  
	C.
	house cat and guinea pig

	[image: image5.wmf]  
	D.
	bobcat and house cat

	 


	Question 2 of 37

	Which process always increases the fitness of a species for a particular habitat niche?

	 
	 
	 
	 
	 

	[image: image6.wmf]  
	A.
	decomposition

	[image: image7.wmf]  
	B.
	relocation

	[image: image8.wmf]  
	C.
	adaptation

	[image: image9.wmf]  
	D.
	competition

	 


	Question 3 of 37

	In a crayfish there is a tubelike organ connected to a sac-like organ. This sac-like organ contains tooth-like structures. Another organ releases a fluid into the sac-like organ and then the material inside enters a large tub that leads to an opening at the posterior end. What is the main function of this system?

	 
	 
	 
	 
	 

	[image: image10.wmf]  
	A.
	circulation

	[image: image11.wmf]  
	B.
	digestion

	[image: image12.wmf]  
	C.
	respiration

	[image: image13.wmf]  
	D.
	excretion

	 


	Question 4 of 37

	Which of the following are most likely to cause a new species to emerge from an existing species?

	 
	 
	 
	 
	 

	[image: image14.wmf]  
	A.
	photosynthesis and cellular respiration

	[image: image15.wmf]  
	B.
	genetic variation and reproductive isolation

	[image: image16.wmf]  
	C.
	contamination and biological magnification

	[image: image17.wmf]  
	D.
	solar radiation and biogeochemical cycles

	 


	Question 5 of 37

	Several goldfinches (birds) inhabit an area. They grow and reproduce well as long as thistle seeds are available for their food. The thistle plants reduce in number and sunflower seeds are available. The goldfinches that eat sunflower seeds survive and produce offspring that eat sunflower seeds. This illustrates

	 
	 
	 
	 
	 

	[image: image18.wmf]  
	A.
	natural selection.

	[image: image19.wmf]  
	B.
	selective breeding.

	[image: image20.wmf]  
	C.
	random sampling.

	[image: image21.wmf]  
	D.
	the need for specific bird feed.

	 


	Question 6 of 37

	Use the dichotomous key to answer the following question. 

[image: image22.png]3. Leaf with only one blade
. Leaf with smaller leaflets.

Carva





The leaf shown came from which genus of tree? 

	 
	 
	 
	 
	 

	[image: image23.wmf]  
	A.
	Larix

	[image: image24.wmf]  
	B.
	Pinus

	[image: image25.wmf]  
	C.
	Acer

	[image: image26.wmf]  
	D.
	Carya

	 


	Question 7 of 37

	Which plant, shown in the cladogram below, did all the other plants shown evolve from? 
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	[image: image28.wmf]  
	A.
	ferns

	[image: image29.wmf]  
	B.
	quillworts

	[image: image30.wmf]  
	C.
	clubmosses

	[image: image31.wmf]  
	D.
	flowering plants

	 


	Question 8 of 37

	Below are DNA strands from four different birds. According to the DNA strands, which birds are most closely related? 

[image: image32.png]Bird#1
ACC AAA TAC
Bird#2
ACC TTC CCC
Bird#3
TCC TTC COC
Bird#4
ACC TCG GCC





	 
	 
	 
	 
	 

	[image: image33.wmf]  
	A.
	2 and 4

	[image: image34.wmf]  
	B.
	3 and 4

	[image: image35.wmf]  
	C.
	1 and 3

	[image: image36.wmf]  
	D.
	2 and 3

	 


	Question 9 of 37

	Look at the following key. 

[image: image37.png]1 8. Webbed fet.
. Not webibed feet.

2. Noticebly downward curved beak.
‘b, Beak not naticesbly curved.

3 a. Dark circles around eyes.
. N dark circles azound eyes.

42 Primary color blark.
. Primary colors white and gray.

Air sponsa
goto2

gt

gotod

Bubo virghianss
Buteo jamacens's
Corns brachyriprohos
Larus ar gevtataus




What is the genus and species name of the organism shown above? 

	 
	 
	 
	 
	 

	[image: image38.wmf]  
	A.
	Aix sponsa

	[image: image39.wmf]  
	B.
	Buteo jamaicensis

	[image: image40.wmf]  
	C.
	Corvus brachyrhynchos

	[image: image41.wmf]  
	D.
	Larus argentataus

	 


	Question 10 of 37

	Which of these is a direct measure of the fitness of a population for life in their habitat niche?

	 
	 
	 
	 
	 

	[image: image42.wmf]  
	A.
	the total number of healthy offspring produced each year

	[image: image43.wmf]  
	B.
	the type of predators living in the habitat

	[image: image44.wmf]  
	C.
	size variations among individuals

	[image: image45.wmf]  
	D.
	presence of genetic mutations in individuals

	 


	Question 11 of 37

	Protists are found in pond water and are classified according to their means of locomotion. Which of the following protists are most closely related? 

[image: image46.png]




	 
	 
	 
	 
	 

	[image: image47.wmf]  
	A.
	1 and 2

	[image: image48.wmf]  
	B.
	1 and 3

	[image: image49.wmf]  
	C.
	1 and 4

	[image: image50.wmf]  
	D.
	2 and 4

	 


	Question 12 of 37

	New species can emerge when organisms must adapt to new conditions. 

Which of the following is not likely to cause a new species to emerge from an existing species?

	 
	 
	 
	 
	 

	[image: image51.wmf]  
	A.
	seasonal variations in temperature and precipitation

	[image: image52.wmf]  
	B.
	relocation to a new habitat

	[image: image53.wmf]  
	C.
	a drastic change in climate patterns

	[image: image54.wmf]  
	D.
	changes in the types of food available in a habitat

	 


	Question 13 of 37

	How do genetic mutations help new species emerge?

	 
	 
	 
	 
	 

	[image: image55.wmf]  
	A.
	They can produce a change that interferes with processes that are necessary for survival.

	[image: image56.wmf]  
	B.
	They can go undetected in the genome until two individuals carrying the mutation reproduce.

	[image: image57.wmf]  
	C.
	They can occur in the replication of DNA during the cell cycle.

	[image: image58.wmf]  
	D.
	They can confer a survival advantage that is passed on to future generations.

	 


	Question 14 of 37

	Which of the following shows the correct order of plant classification groupings from largest to smallest?

	 
	 
	 
	 
	 

	[image: image59.wmf]  
	A.
	kingdom, division, class, order, family, genus, species

	[image: image60.wmf]  
	B.
	kingdom, division, order, class, family, species, genus

	[image: image61.wmf]  
	C.
	kingdom, phylum, class, family, order, genus, species

	[image: image62.wmf]  
	D.
	kingdom, phylum, class, order, family, genus, species

	 


	Question 15 of 37

	[image: image63.png]Organism | DNA segment

1 |Tac cca TTG

TCC GAA ATG

TcC GAA TTG

TGC GCT 4AG





Below are sections of DNA that code for certain amino acids in a protein. According to the code, which two organisms are least related?

	 
	 
	 
	 
	 

	[image: image64.wmf]  
	A.
	3 and 4

	[image: image65.wmf]  
	B.
	1 and 3

	[image: image66.wmf]  
	C.
	2 and 4

	[image: image67.wmf]  
	D.
	2 and 3

	 


	Question 16 of 37

	Jackie has a registered female Labrador retriever. He keeps her in the yard, but one day she gets out of the yard. She returns home three weeks later. Six weeks after that, she has a litter of puppies. None of the pups looks like a labrador. The puppies were conceived as a result of

	 
	 
	 
	 
	 

	[image: image68.wmf]  
	A.
	mitosis

	[image: image69.wmf]  
	B.
	natural selection

	[image: image70.wmf]  
	C.
	selective breeding

	[image: image71.wmf]  
	D.
	asexual reproduction

	 


	Question 17 of 37

	Use the illustration and key to identify the tree. 

[image: image72.png]1 a. Leaf edge has no teeth, waves, orlobes. ... gato2
b, Leaf edge has teeth, waves, or lobes. goto3
24, Leafhas a bristle at s tip shingle oak
(Quercus imbricaria)

. Leaf has no bristle at it tip gotod
3. Leaf edge is taothed. Lombardy poplar
(Popuius nigra)

. Leaf edge has waves orlobes gotos
44, Leaf is heart-shaped. sedbud
(Cercis canadensts)

. Leaf is not heart-shaped. tive oak
(Quercus chnysolepsis)

5. Leaf edge has lobes, English oak
(Quercus robur)

. Leaf edge has waves. Chestant agk

(Qrercus montand)





	 
	 
	 
	 
	 

	[image: image73.wmf]  
	A.
	Quercus imbricaria

	[image: image74.wmf]  
	B.
	Quercus chrysolepsis

	[image: image75.wmf]  
	C.
	Quercus montana

	[image: image76.wmf]  
	D.
	Cercis canadensis

	 


	Question 18 of 37

	Look carefully at this picture. 

[image: image77.png]



Use the dichotomous key to identify the organism shown. 
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	[image: image79.wmf]  
	A.
	Tadarida brasiliensis 

	[image: image80.wmf]  
	B.
	Felis concolor 

	[image: image81.wmf]  
	C.
	Mephitis mephitis 

	[image: image82.wmf]  
	D.
	Spermophilus variegatus 

	 


	Question 19 of 37

	Use the dichotomous key to determine the scientific name of the organism shown below. 

[image: image83.png]a. Short Tail
b, Long Tail

a. Tail has a solid black tip
b Tail has a black tip tipped with white

a. Coat s light-colored above and white below.
b. Coat s dark above and below.
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Goto3

Lynx lynx
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Felis yagouaroundi





	 
	 
	 
	 
	 

	[image: image84.wmf]  
	A.
	Lynx lynx

	[image: image85.wmf]  
	B.
	Lynx rufus

	[image: image86.wmf]  
	C.
	Puma concolor

	[image: image87.wmf]  
	D.
	Felis yagouaroundi

	 


	Question 20 of 37

	Look carefully at the leaf below. 

[image: image88.png]



Use the key below to answer the following question. 

[image: image89.png]1a. Leaf edge has no teeth, waves, orlobes........ goto2
b, Leaf edge has teeth, waves, or lobes. goto3
2 a. Leafhas a bristle at s tip shingle osk
(Quercus imbricaria)

. Leaf has no bristle at it tip gotod
3 a. Leaf edge is taothed. Lombardy poplar
(Popuius nigra)

b, Leaf edge has waves orlobes gotos
4 0. Leaf is hoart-shaped. sedbud
(Cercis canadensts)

. Leaf is not heart-shaped. tive osk
(Quercus chuysolepsis)

5 a. Leaf edge has lobes, English gk
(Quercus robur)

. Leaf edge has waves. Chestant agk

(Crercus montand)





What is the scientific name of the tree whose leaf is shown above?

	 
	 
	 
	 
	 

	[image: image90.wmf]  
	A.
	Quercus imbricaria

	[image: image91.wmf]  
	B.
	Populus nigra

	[image: image92.wmf]  
	C.
	Cercis canadensis

	[image: image93.wmf]  
	D.
	Quercus montana

	 


	Question 21 of 37

	Humans have a coiled, tube-like organ with a highly folded lining located on the lower ventral side. This lining is covered with millions of fingerlike projections. Inside these projections are tiny tube-like structures containing fluid. These tiny tube-like structures lead to larger tube-like structures. What is the most likely function of this organ?

	 
	 
	 
	 
	 

	[image: image94.wmf]  
	A.
	absorption of nutrients into the bloodstream.

	[image: image95.wmf]  
	B.
	to add O[image: image96.png]


 and remove CO[image: image97.png]


 from the bloodstream

	[image: image98.wmf]  
	C.
	to send nerve impulses to the brain

	[image: image99.wmf]  
	D.
	to fight infection

	 


	Question 22 of 37

	Body cells are constantly bathed with fluid. A certain system collects this fluid so that it doesn't build up and carries it into tiny tubelike structures. These tiny structures converge to form larger vessels that flow in one direction only. These large vessels empty into small masses of tissue that are concentrated in certain areas of the body. These masses filter the fluid and return it to the large vessels. Large vessels from all over the body converge to form two collection sites in the upper area of the human torso where this fluid is collected and returned to the bloodstream. What is the function of this system?

	 
	 
	 
	 
	 

	[image: image100.wmf]  
	A.
	to defend the body against disease

	[image: image101.wmf]  
	B.
	to digest food

	[image: image102.wmf]  
	C.
	to store liquid waste

	[image: image103.wmf]  
	D.
	to remove solid waste from the body

	 


	Question 23 of 37

	Use the picture and the classification key to answer the following question: 

[image: image104.png]1 8. Leaf edge has lobes or tecth.
b, Leaf edige has no lobes or teeth
22 Leaf edge is toothed.
b, Leaf edige has lobes,
3 2. Leaf edge is stightly wavy.
. Leaf edige is smaoth.

goto2

goto3
Populusniga
Quercu robur
Quercu imricaria
Cercis caradansis




What is the genus and species of this organism?

	 
	 
	 
	 
	 

	[image: image105.wmf]  
	A.
	Populus nigra

	[image: image106.wmf]  
	B.
	Quercus imbricaria

	[image: image107.wmf]  
	C.
	Quercus robur

	[image: image108.wmf]  
	D.
	Cercis canadensis

	 


	Question 24 of 37

	What is the function of the large intestines?

	 
	 
	 
	 
	 

	[image: image109.wmf]  
	A.
	digest and absorb nutrients

	[image: image110.wmf]  
	B.
	absorb water and pack solid waste together

	[image: image111.wmf]  
	C.
	begin mechanical digestion of food 

	[image: image112.wmf]  
	D.
	keep humans from having halitosis

	 


	Question 25 of 37

	Breeding of thoroughbred horses is a major industry in Kentucky. One of the desired characteristics is racing speed. About 40% of an animal's running speed is determined by heredity. Therefore, breeders ideally mate fast running females to fast running males. This is an example of

	 
	 
	 
	 
	 

	[image: image113.wmf]  
	A.
	selective breeding

	[image: image114.wmf]  
	B.
	replictation

	[image: image115.wmf]  
	C.
	natural selection

	[image: image116.wmf]  
	D.
	asexual reproduction

	 


	Question 26 of 37

	In the human body, there is an organ that contains a membrane similar to a drum. When this membrane vibrates, it transfers vibrations to a coiled, fluid-filled chamber. When hairlike cells inside this chamber are vibrated, messages are sent to the brain. What is the main function of this organ?

	 
	 
	 
	 
	 

	[image: image117.wmf]  
	A.
	moving muscles

	[image: image118.wmf]  
	B.
	focusing images

	[image: image119.wmf]  
	C.
	ridding the body of waste

	[image: image120.wmf]  
	D.
	hearing sounds

	 


	Question 27 of 37

	Use the picture and the dichotomous key to answer the following question. 

[image: image121.png]1 a.Flies by ahand formed into a wing .... Mpofts hucifigus

b Doesn’tfly goto2
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What is the genus and species of this animal?

	 
	 
	 
	 
	 

	[image: image122.wmf]  
	A.
	Procyon lotor

	[image: image123.wmf]  
	B.
	Scalopus aquaticuc

	[image: image124.wmf]  
	C.
	Didelphis marsupialis

	[image: image125.wmf]  
	D.
	Castor canadensis

	 


	Question 28 of 37

	[image: image126.png]Species | DNA Sequence
1 |TaA CGT TAC
2 |aTc CTG aGC
3 |AGC cTo ACG
4 |T1eT coT aTC





A scientist studied a specific strand of DNA from four species of warblers. The results are shown in the table. From analyzing this chart, which 2 species of warblers are most closely related?

	 
	 
	 
	 
	 

	[image: image127.wmf]  
	A.
	1 and 2

	[image: image128.wmf]  
	B.
	1 and 4

	[image: image129.wmf]  
	C.
	2 and 3

	[image: image130.wmf]  
	D.
	2 and 4

	 


	Question 29 of 37

	Australia is home to several species that are not found on other continents. 

Why are these species only found in Australia?

	 
	 
	 
	 
	 

	[image: image131.wmf]  
	A.
	Ecological competition does not drive natural selection pressures in Australian habitats.

	[image: image132.wmf]  
	B.
	Genetic mutations occur more often in Australian species than in species indigenous to other continents.

	[image: image133.wmf]  
	C.
	Geographical isolation made it impossible for many Australian species to relocate to vacant niches on other continents.

	[image: image134.wmf]  
	D.
	Species introduced from other continents quickly adapted to conditions in Australian habitats. 

	 


	Question 30 of 37

	An earthworm contains an organ made up of tissues that expand and contract causing the walls of the organ to rub against one another. What is the most likely function of this organ?

	 
	 
	 
	 
	 

	[image: image135.wmf]  
	A.
	reproduction

	[image: image136.wmf]  
	B.
	respiration

	[image: image137.wmf]  
	C.
	excreting waste

	[image: image138.wmf]  
	D.
	grinding food

	 


	Question 31 of 37

	The gestation period for field mice is around 23 days. Mice are usually weaned around three weeks of age. 

Which population of field mice is most fit for life in their habitat niche?

	 
	 
	 
	 
	 

	[image: image139.wmf]  
	A.
	Field mice that reproduce once each year.

	[image: image140.wmf]  
	B.
	Field mice that reproduce twice each year.

	[image: image141.wmf]  
	C.
	Field mice that reproduce four times each year.

	[image: image142.wmf]  
	D.
	Field mice that reproduce five or more times per year.

	 


	Question 32 of 37

	[image: image143.png]Organism 1 [TGC CCA TTG

Organism2 [TCC GAA ATG

Organism 3 [TCC_GAA TTG

Organism 4 [TGC GCT AAG





Use the above chart of DNA bases to determine which two organisms are most closely related.

	 
	 
	 
	 
	 

	[image: image144.wmf]  
	A.
	1 and 2

	[image: image145.wmf]  
	B.
	2 and 3

	[image: image146.wmf]  
	C.
	3 and 4

	[image: image147.wmf]  
	D.
	1 and 4

	 


	Question 33 of 37

	What is the function of swimmerets in crayfish?
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	A.
	To detect surface where crayfish is located
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	B.
	To swim
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	C.
	In reproduction
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	D.
	Both (b) and (c) are correct

	 


	Question 34 of 37

	Use the chart to answer the following question. 

Which two organisms are most closely related? 
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	A.
	domestic sheep and domestic goat
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	B.
	donkey and clydesdale
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	C.
	domestic goat and donkey
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	D.
	clydesdale and domestic sheep

	 


	Question 35 of 37

	Use the dichotomous key to identify the organism shown. 

[image: image157.png]b,
2a
6
3a
3

Has hair or for _
Has along, nasrow be
Has athick beak _
Has homs
Daes not have homs..

goto2
goto3
Selasphorus rufus
Ramphastos toco
Cervuis canadensts
Ursus americans






	 
	 
	 
	 
	 

	[image: image158.wmf]  
	A.
	Selasphorus rufus
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	B.
	Ramphastos toco
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	C.
	Cervus canadensis
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	D.
	Ursus americanus

	 


	Question 36 of 37

	Coyotes are natural predators of rabbits. When the rabbit popuation goes up, the coyote populaton soon follows. When the coyote population peaks, the rabbit population decreases. Which of the following explains the decreas in the rabbit population?
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	A.
	asexual reproduction
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	B.
	sexual reproduction
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	C.
	natural selection
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	D.
	selective breeding

	 


	Question 37 of 37

	A crayfish contains a sac-like organ that has a small section adapted with calcium-hardened ridges that move back and forth against one another. What is the most likely function of this organ?
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	A.
	to reproduce
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	B.
	to circulate oxygen and nutrients to cells
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	C.
	to grind up food
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	D.
	to exchange gases with the environment
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